18, What is the probability of getting an even number when a die 18 throwy»
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119. The present ages of Arun and Suresh are 24 years and 36 years respectively, Wha
was the ratio between the ages of Suresh and Arun, 8 yvears ago? 2

(A 4:7 (B) 6:5
(C) 7:4 i
(E)  Answer not known
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120. A and B together can do a piece of work in 16 days and A alone can do it in 48 days
ow long will B alone take to complete the work?

(A) 15 days " 4 days
i @) 28 days (D) 30 days

(E) Answer not known
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131. Raghul wanted to find the height of a tree in his garden. He phu;”,lj th

height to his shadow length. It was 4 : 1. He then measured the qh,r“]”_.'

af
was 15 feet. What was the height of the tree? R
{(A) 15 feet (B) 80 feet
(C) 60 feet (1) 75 feet

(E)  Answer not known
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132. A shop keeper marked the price of an article as 15% more
offered 15% reduction for the article, then he got
(A) Profit
| B\ Loss
| (C)  Neither Profit nor Loss
(D)  Profit as well as Loss
(E)  Answer not known
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138 According to Darwin, speciation 1s effected by
(4) small continuous heritable variation
(B) small continuous non heritable variation
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ﬂl gwﬂn number pattern find the next term

fgﬁl‘t i44 55‘53 )
7531

N 6666
430

© 9222
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h.ﬂmispherjcnl tank of radiua 176 m is full of Watoer, [{ 1n COTVIL
jch[ermRtion thejtank at the rate of 7 litres per second., How myuoh :-:::.:rw‘ﬂll R
: L8 T e t:ﬂ.“.

empty the tank completely?
to .
j 97 minutes

26 mnutes
( . =9 minutes

l:m 62 minutes
{ Answer not known n
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134 Findthe LCM of (x* - 1), (x* - 2x +1)
@ @D+

® (+)E-1)
© cxﬂ -;1:1(;:;—1)2

B @D+l (-1
(E) Answer not known
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. 1 2316 apresent the area of the ras
123. A mason uses the expression 2x° 16 Lo rog i 16 e

(B)

(QJA 21 em
D) 23¢m

(E) . Answer not known
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of a room. If he decides that the length of the room will be "‘-‘Dl'rf-mrm4,::t|“t£,{-:';2
then what will the width of the room be represented in terms of + 2 r
(A 2x—2)

B) (x*-4)

@5 (22 -2xc44)

(D) (x*42x-4d)

(E) Answer not known
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(A) 2(x-2)
(B) (x*-4)
() (x*-2x+4)
D) (x*+2x—4)
(E) dfla Gsfluicdome
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The volume of a solid hemisphere is 29106 em®. Another hemisphere whose volirs
is two-third of the above is carved out, Find the radius of the new hemisphere.

(A) 21.5cm
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Answer not known

- prcenranmisg 12 wesfl Cupin Ceueney Clailigy

(5 Genanesas, 18 mniseng

anen e g 20 B mefien pg

(B) 162 syemsar
(D) 172 semaan

iplete 5 projects in 5 days then 50 persons complete 50 projec



135;

136.

(E)  Answer not known

Find H.C.F, of (x%y 4 a9®), (x* + ay)

(A) x4y (B)  ay A [ery)
/=y A ) (D) %2442

(B)  Answer not known
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\ su 000 was lentout at simple interest and at the end of 2 years and
tal amount was € 55,560. Find the rate of interest pexr year.
(B) 8%

@) 10%
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